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100000000, 1.50000000, .T50000000, .600000000, .300000000 |  ~-.05000000
750000000, 1.00000000, .E00000000, .500000000, 1 | 1.35000000
600000000, 850000000, 500000000, 430000009, 1,001 | .S20000000
500000000, . 600000000, 430000000, 370000000, 750000000 | .710000000
430000000, 500000000, .I0000000, .I30000000, 800000000 | 570000000

Method = Partial Piwot - in the the order of rows, I, 4, 3, 5
Number of decimal places = 8

Solution only

There are 5 equaticoms

FESULTS

1.0000, 1.5000,
L0000, 00000,

RES
.75000, .60000, .30000, | -.0500
L5500, 07000, 60000, [ « 13500
.03166, .04656, .52100, | 70500
.00000, .D126E, .DOZ1Z, | .00TIS
L0000, 00000, 93775, |

95825 2
/

The modulus of the largest multiplier was 0.966667 .

Il = -1.T8602

= 0.0z

0 o= 1.64354
i1 = 0.393009
0= 10219



